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RYTFV ERE T 320 m 220.6 220.6
AE AR > Z A 920 &Pt 44.0 44
e
DIP
e BY EIRDA $ 150 m 29.9 29.9
DIP
e BY EIRDA $ 100 m 343.5 343.5
DIP
e BY EIRDA 075 m 87.3 87.3
WAZVZeZ 0]
B 55 P8 i A AURE2.94 4, L=4.4km | [A] 3.0 3
BEEKAE LY kg | 7602.0 7602
DIP
TR BT ¢ 150 5] 8.0 8
DIP
TR BT $ 100 5] 101.0 101
DIP
TR BT 075 5] 25.0 25




RFEAHEMRRE

A ; EISA}»%EE(m)_ HEHIZE & (m) _gxm|ok| &
£ i B L—k| AT ng |[MER ] EN ZEE A &R | Box | # | 0% |HE®ER &
N8 kY ER NE EN
1 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
2 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
3 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
4 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
5 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
6 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
7 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
8 0 PE® 100 | 20 940 : 3.00 +0.40+ 6.00 9.00 3.00+ 6.00 0 20 20| T (As)
9 0 PE® 100 | 20 13.40 ! 3.00 +0.40+ 10.00 13.00 3.00+ 10.00 0 20 20| B (As)
10 0 PE® 100 | 20 940 : 3.00 +0.40+ 6.00 9.00 3.00+ 6.00 0 20 20| T (As)
11 0 PE® 100 | 20 940 : 3.00 +0.40+ 6.00 9.00 3.00+ 6.00 0 20 20| T (As)
12 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
13 0 PE® 75 20 340 300 +0.40+ 0.00 3.00 3.00+ 0.00 20 20| & (As)
14 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
15 0 PE® 75 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
16 0 PE® 75 20 8.40: 300 +0.40+ 5.00 8.00 3.00+ 5.00 0 20 20| T (As)
17 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
18 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
19 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
20 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
21 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
22 0 PE® 75 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
23 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
24 0 PE® 75 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
25 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
26 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
27 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
28 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
29 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
30 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
34 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
35 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
36 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
37 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
38 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
39 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
45 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
46 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
47 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
48 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
49 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| B (As)
50 0 PE® 100 | 20 440 : 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
51 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| T (As)
52 0 PE® 100 | 20 440 300 +0.40+ 1.00 4.00 3.00+ 1.00 0 20 20| & (As)
HRILSKIE| PE@75x% ¢20]10 4
HRIL5KAE| PE® 100 x ¢ 20] 34 4
a8 it | 20| 220.60m |44 4| 220.60m ! Fiy 5.01m 203.00m 01 |44 |44 &
@®
= B 220.60m 203.00m 014 |44 |44 8

KJZEFDA-1 (P 1)




1. BEFHEKEER Z DA

O7% R | Bhies LR B e | ERE e

@ 300 0.323 63. 8 0.0 0.0

¢ 200 0.220 31.5 0.0 0.0

¢ 150 0.169 28.3 29.9 0.9 846. 2

¢ 100 0.118 19.7 343.5 4.8 6,767.0

o 15 0.093 15.3 8/7.3 0.8 1,335.7

a5 6.5 8,948.9

m3 kg

FSws h-vEBM At 2.9tH
A E L=3.4m Fam@ W=2.0m
- fEAE S H=0.5m
Sy ANBRESHE (m°/8) =3.4%x2.0x0.5=3. 4m°

F2T. BHREZNNT H-HICET HEMREHKIL.

8948. 9kg+4000=3 = 1E&Hf-Y 2983 kg
ek E U1
® 300
$ 200
150 29.9-3.4=8 A
100 343.5+3.4=101 A
b15 87.3+3.4=25 A

2. HRENSD

A% (& K| BEUEE | LOFE | BEukE | L9KE

¢ 300 0.0 50. 2 0.0 0.0819 0.00
¢ 200 0.0 31.4 0.0 0.0380 0.00
¢ 150 29.9 23.8 111.6 0.0224 0.67
¢ 100 343.5 16.8 | 5,753.6 0.0109 3.74
b 15 87.3 13.0 | 1,137.1 0. 0068 0.59
=57 (kg) 7,602 |55 (m) 5.0




fas'en
v B =X
ZDA-1
EiE | O | 1IAS-YDOES
PE 100 5.00
&= = 2 UEHEE £ A B |&RE KE |UHER)| UG
PE 3.80 |1.20 BH 3.80
=T s
1 EFZOMEE Z 120 0.00 1
@ 100 X 5m
PE 3.50 |1.50 BH 350
=T s
) EFZOMEE Z 150 0.00 ’
@ 100 X 5m
PE 3.30 |1.50 BH 3.30
=T s
3 EFZOMEE Z 150 0.20 2
@ 100 X 5m
PE 3.10 |1.90 H 310
=T s
4 EFZOMEE Z 1.90 0.00 :
@ 100 X 5m
PE 3.80 |1.20 BH 380
=T s
5 EFZOMEE Z 120 0.00 1
@ 100 X 5m
PE 1.40 |2.30 |0.90 H 140
EFZOMEE Z 230
6 = 090 0.40 3
@ 100 X 5m
PE 2.10 |2.50 H 210
=T s
; EFZOEE Z 250 0.40 2
@ 100 X 5m
PE 2.00 |2.00 [1.00 H 200
EFZOMEE Z 200
8 =100 0.00 2
@ 100 X 5m
PE 1.60 [1.20 |1.10 {1.00 H 1.60
EFZOMEE Z 120
9 =110 0.10 4
@ 100 X 5m Z 1.00
PE 0.50 |3.80 BH 050
=T s
0 EFZOMEE Z 380 0.70 9
@ 100 X 5m
PE 4.60
=T s
» EFZOMEE Z 460 0.40 :
@ 100 X 5m
11K
g 52.80 2.20 20 0




as'an
1 & =x
FDA-1
EiE | O | 1IAYE-YDES
PE 75 5.00
&= = iz} UEHEE F A & 5T KE |UHER)|UR®
1.20 |2.40 |1.00 BH 1.20
EFZONES Z 240
1 .
Z 1.00 0.40 3
® 75X 5m
EN B}
5 4.60 0.40 3 0
as'an
1 & =x
FDA-1
EiE | O | 1IAYE-YDES
HIVP 75 4.00
&= = iz} UEHEE F A & 5B KE VR UR®
HIVP 3.00 |0.50 |0.50 3.00
0.50
1 0.50 0.00 2
@ 75%X4m
HIVP 2.50 |0.80 |0.50 250
0.80
2 0.50 0.20 3
@ 75%X4m
2K B}
5 7.80 0.20 5 0




i S i

ZMNDA-1
£ 5 Fedk~ti% =13 = &
i Al T BHO0.20m3 m® 380
X
% + . s I BH0.20 , DT4t {Ri& m° 380 L:0.5knj
SHES
% + 0 bl T BH0.80 , DT10t L% m° 380 L?30.6km
HAT7—hk
As B 0 2 T BHO0.20 , DT2t m® 19 |L=5.8km
BH0.20m3
g = I BEI 7YY m° 172
BH0.20m3
pr::} R I 1) m° 111
i [ % I BHEMARE =012 i 389
T & B I BAERA t=015 m 389
il = hR 1] i} T t=15cm m 1363
BRI As
= |E] T As t=0.05 m 389
O O% R B O&®E L B A BHO0.20 , DT2t m 389




k) £+ T % & & & &

i A% ZoA-1
(i £33 H:: THE RS | RdEE | A At ] o | ERAIERE L Th u‘fﬂ%‘r BT FEL] THEEL] HRLL As, Colli| FERE L | (s Qg%?ﬁ’_ﬁ 'ﬂl‘x 78 ‘*ﬁ':nij‘i‘ i
i Asi% Co b | weis | ARG BERA] WAL | WAL | WA [EERE] B
(m) | | (m3) (m3) (m3) (m3) (m3) (nf) (i) (nf) (i) (nf) (i) (m3) (m3) (m3) (m) (nf) (nf) (nf) (m3) BH
BERHHE 0.60 BH=0. 20 =0. 05 0. 12 =0. 15 1=0.59| 1=0.33| t=0.05 =0. 03] t=0.05 EF-PE ¢ 100| D=0.012| ~ PEP ¢ 100
DL dieEDIP6 100) 4.0 0.60 |0.60 |1.22 293 | 277 | 277 | o0.12| 0.00 2,40 2. 40 142|  o.7af 800 ] 000 240] 240 0.05 | Bii=0. 20 | HA8 (G
B#R1. PE ¢ 100 0.60 BI=0. 20 =0.05 =0. 12 =0. 15, 1=0.59| 1=0.33| t=0.05 =0.03| t=0. 05 [# EF-PE ¢ 100| D=0.012|  PEP ¢ 100
DL Gispe o || 2373 [0.60 [0.60 [1.22 | 173.70 | 163.97 [163.97 | 7.12 [ 0.00 142, 38 142, 38 83.99| 44.14| 474.60 | 0.00 [ 142.38 | 142.38 2.85 | Bi=0. 20 | WA (B
B#R2. PE ¢ 100 0.60 BI=0. 20 =0.05 =0. 12 =0. 15, 1=0.59| 1=0.33| t=0.05 =0.03| t=0. 05 [# EF-PE ¢ 100| D=0. 012|  PEP ¢ 100
DL Gispe o || 106.2 [0.60 [0.60 [1.22 | 77.74 | 73.38 | 73.38 | 3.19 [ 0.00 63.72 63.72 37.59| 19.76] 212.40 [ 0.00 | 63.72 | 63.72 1.27 | Bi=0, 20| B (W)
B#R3. PE ¢ 100 0.60 BI=0. 20 =0.05 =0. 12 =0. 15, 1=0.64| 1=0.33| t=0.05 =0.03| t=0. 05|k EF-PE ¢ 100| D=0. 012|  PEP ¢ 100
@11 Gizrersy | 29-9 [0.60 [0.60 [1.27 | 22.78 | 2122 | 2122 | 0.90 [ 0.00 17,94 17, 94 11.48]  5.56] 59.80 | 0.00 | 17.94 | 17.94 0.66 0.36 | Bi=0. 20 | HAH (B
HH4.PE G T5 0.60 | x BI=0. 20 £=0. 05 =012 =0. 15 1=0.50| 1=0.29| t=0.05 £=0.03] t=0. 05||#8%k#¥ ¢ 75 | EF-PE ¢ 75| D=0.006| ~ PEP @75
LT (uipers) | 87.3 [0.60 |0.60 |1.09 | 57.09 | 53.86 | 53.86 | 2.62 | 0.00 52.38 52. 38| 26.18| 14.67] 174.60 | 0.00 | 52.38 | 52.38 0.61 0.52 | Bii=0. 20 | HAR (G
KLU LHL¢T5 0.60 BI=0. 20 £=0. 05 =012 =0. 15 11=0. 40| 1H=0.29| t=0.05 0. 03] t=0.05 5| D=0. 006 0o 75
BT 11.9 [0.60 [0.60 [0.99 7.07 | 671 | 671 | 0.36| o0.00 7.14 7.14 2.86] 200 2380 | o000 714 714 BH=0. 20 | HUAR (HH)
L ESIRFIES 1.00 BI=0. 20 =0.05 0. 12 =0. 15 1=0.80| 1=0.27| t=0.05 ©=0.03| t=0.05 D=0. 022 | RWAILE)F
6150 2.0 [1.00 [1.00 |1.37 2.74 | 264 | 2.64| 0.10 | 0.00 2.00 2.00 60| 050 400 | o0.00| 200 =200 Bl=0.20|  ARLEHESY
BIAR ¢ 20 0.50 BH=0. 20 1=0. 05 t=0. 12 t=0. 15 H=0.07| H=0.23| t=0.05 t=0.03[ t=0.05 PEFE 6 20| D=0. 001 PP 20
203.0 0.50 {0.50 |0.60 | 60.90 | 55.82 | 55.82 | 5.08 | o0.00 101. 50 101. 50 7.09| 23.23] 406.00 | 0.00 [ 101.50 | 101.50 0.00 0.12 | p=0. 20 | WM (i)
(F#%) + T % HOE
A ZOA]
THE - A e L FRHE T FAL] TREEL] @’KLJ? AsONT | EfE | (ki ;ﬁ:"fﬁfﬁ -
ER Asiik Coik [ R EES RS RS R
(m3) (m3) (m3) (m3) (nf) (nf) (nf (nf) (m3) (m3) (m3) (m) (nf) (nf) (nf)
JH - R L - SR L RGA (A1)
et
A - L - SRR LRDA (BH=0. 06)
et
A - L - SRR LRDA (BH=0. 10)
et
A - L - SEERRREE LRDA (BH=0. 20) 380.37 | 380.37 | 19.49 172.21 | 110. 60 389. 46
&)1 380.00 |380.00 | 19.00 172.00 |111.00 389. 00
A - L - SEAERRIREE LETUA  (BH=0. 20+ K77 L-h)
bt
it #® L (=0.10)
et
it #® L (1=0.12) 389. 46
et 389. 00
it #® L (t=0.15) 389. 46
et 389. 00
it #® L (£=0.20)
et
it #® L (=0.25)
et
i 3 L
bt
As ) e (t =15cm) 1, 363. 20
ok 1s 1,363, 00
As ) 17 ('t >15cm)
et
As, Co ) 17 ('t =30cm)
bt
G #* L (1=0.03) 389. 46
et 389. 00
i ES L (t=0.05)
et
Gl #* L (=0.07)
bt

gobst l | | | l | | | l | I | | | | | | I |




# B £ EF ®GE&EEH
ZNDA-2
" | 2 BE#RNo.
% 7 AR IR Bfr| & 2.3 [Fov2. 3 = f= =
¢ 50
HIVP
BHE $ 50 X 3.0 3.0
HIVP
ILH ®50 & 5 5
HIVP
NL7YryNERBAY) ® 50 & 2 2
VLG
ILH ¢ 50 & 2 2
EF-PE
EFROFEE ® 50 7 11 10 1
EF-PE
YARIN ¢ 50 (] 2 2
EF-PE
AZAVN $50%221/2° & 1 1
T3
EF-PE
PEFE O ftY7b - WAL F $ 50 & 2 2
PVl Z A5 ¢ 50 & 2 2
Ry o R
25%!
Vg ah-E¢izH) | A%, RARTE| & 4 4
25%!
Ly vtysmeErmETY 50H & 4 4
25%!
LY vyl F 7 ny s (8 T 3E) 150A & 4 4
25%!
LY vyl F 7 ny (8 T 3E) 300C & 4 4
25%!
LY Il 257 (3 T 1) 40S & 4 4
EKEM
ML KEE PE
(BEE 74V AfT) $50% @20 & 8 8
ARIESHAME ® 20 & 8 8
_EBE
[EA=; ® 20 m 35 35.2
Z D1t 0
P
HERAE Y — N A T 4) 150m/m m 96| 55.3 9.0 32.0
50mm
BART-7(# I 3) 1%%/20m m 10 8.7 1.3
Br=T409 MY-(# T ) 12/100m m 100 55.3 9.0 35.2




B T £ i ZRER

FDA-2
FHRNo.
7 2N WAT | 2 N N -
4 PR FAR IS B 5 5 5 I i =

¢ 50
)V A R TS T $ 50 m 55.3]| 30.9| 24.4

10
FYFL BT T(EE) ¢ 50 5 12.0 7 5

20
FYFL BT T(EE) ¢ 50 5 2.0 1 1
RYTFVEHETE T $ 50 =) 2.0 1 1
N A= 2w sy ¢ 50 =] 1.0 1
ALY o VER AT T ¢ 50 m 9.0 6.4 2.6
RR#ET L $ 50 =) 2.0 1 1

10
TSHEF T ® 50 =) 12.0 7 5
b oV ¢ 50 | 5.0 5
NOBRERUIARES ¢ 50 M 2.0 1 1
(ansIbL

N7
IRk E T ® 50 T FIT 4.0 1 1 1 1
Fa7K

PE
Ay KRR A T 50X ¢ 20 {5 FIT 8.0 8
SrKEEE R T 8.0 8
5 A HA% T $ 20 (5150 8.0 8
KY)zFL L SR T $ 20 m 35.2 35.2
1K AR D 2 Ffst ¢ 20 T FIT 8.0 8




ARFRELAHEMKFE

=
5% |, 3@#%&%(@_ Eﬁﬂﬁﬁ(ﬁ_ skm| k| &
£ i A L—r OfF | og [RER 2] EN EE M R sox | #& |OF|&E®ER fi&
NE MEY ER NE R
31 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
32 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
33 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
40 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
41 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 {3.00+ 1.00 0] 20| 20| miiE(As)
42 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
43 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
44 0 |PE®50] 20 440! 300 +040+ 1.00 | 4.00 i3.00+ 1.00 0] 20| 20| miiE(As)
HRL5Ki2| PE @50 x ¢ 20| 8 44
& Bt | $20[35.20m | 8 #| 3520m i T 4.40m 32.00m o | 8¥[8t
@
& &t 35.20m 32.00m O |84 |84

KFZEFDA-2 (P.2)




=
1 & =
ZMDA-2
EiE | O [ 1 xH8-YDRES
PE 50 5.00
&5 & & UEHEE £ H BE| BE |UHER)|UEE®
PE 3.70 BH 370
SOAEes
’ EFZOMEE 130 ’
® 50 X 5m
1K _
i 3.70 1.30 1
fasan
v g =
FMDA-2
EE | OF | 1IRAHE-YDORES
HIVP 50 4.00
&5 & & UEHEE £ H BEl BRE |UHE)|UH®
HIVP 3.00 |1.00 3.00
1.00
1 0.00 1
@50 %X 4m
HIVP 2.50 |1.00 |0.50 2.50
1.00
2 0.50 0.00 2
® 50 X 4m
HIVP 0.50 |0.30 0.50
0.30
3 3.20 2
@50 X 4m
3R _
i 8.80 3.20 5 0




LS arBOXFE B E

&it I I il v v
25811 8) FD1-2-|FD2-1 |[FDA-1 |FDA-2 [FDB-2
Vvt #ar—-8E Of%.RALRTE 13 9 4
Ly avttls#ER%E 7 ny) 50H 13 9 4
Ly avEtl#7°my) 150A 13 9 4
Ly avEtl#7°ay) 300C 13 9 4
VY vttt #2377 408 13 9 4
SREER LI M12 X 110 13 9 4
HX2GE)
VY aviHKiehT—85E B ¢$500 3 3
VY aviHKiE7 my) 200A 3 3
VY aviHKiE7 my) 300C 3 3
VY aviH K R77 40S 3 3
JU=LKLY - KW EREE b L=150 3 3
EURGEEL AN 12.5kg 3 3
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ZDA-2
£ 5 Fedk~ti% =13 = &
i Al T BHO0.20m3 m?® 44
% + . s I BH0.20 , DT4t {Ri& m° 44 L:0.5knj
SHES
% + . o I BH0.80 , DT10t &% m° 44 L?30.6km
HAT7—hk
As ] 40 A T BH0.20 , DT2t m° 3 L=5.8km
BH0.20m3
pr::} = I BEI 7YY m® 17
BH0.20m3
g R I 1) m° 14
i [ % I BHEMARE =012 i 55
T & B I BAERA t=015 m 55
il = hR 1] i} T t=15cm m 193
BRI As
= |E] T As t=0.03 m 55
O O% R B O&®E L B A BHO0.20 , DT2t m 55




=/u ¥ =N = = -
R) + T % & 3 B F -,
A DAZ2
- s | M e | sl | s At B RLL s, coumi{ JERIT: | s | SEI L
! ’ T | Asak | Cosk |Zmmmi e T R L e - ’
(m) m | m | (m (m3) (m3) (m3) (m3) (m3) (nf) (i) (m3) (m3) (m3) (m) (i) () (i) (m3) (m3) BH
¥4 H5. EF-PEP ¢ 50 0.60 BH=0. 20 =0. 05 H=0.40| H=0.26] t=0.05 t=0. 03| t=0.05 EF-PE ¢ 50 | D=0. 003 PEP ¢ 50
@LT 30.9 [0.60 |0.60 [0.96 | 17.80 | 16.87 | 16.87 | 0.93 | 0.00 ) 7.42|  4.73] 61.80 | o0.00 | 18.54 | 18.54 0. 00 0.09 | Br=0. 20 | HAl (&%)
¥4 116. EF-PEP ¢ 50 0.60 BH=0. 20 =0. 05 BE . H=0.40| H=0.26] t=0.05 t=0. 03| t=0.05 EF-PE ¢ 50 | D=0. 003 PEP ¢ 50
@LtT 24.4 [0.60 |0.60 [0.96 | 14.05 | 13.32 | 13.32 | 0.73 | 0.00 14,64 14. 64 5.84] 3.74] 48.80 | o0.00 | 14.64 | 14.64 0. 00 0.07 | Br=0. 20 | HAl (&%)
KL 2. HI ¢ 50 0.60 BH=0. 20 £=0. 05 t=0. 12 t=0. 15 H=0.40| H=0.26| t=0.05 t=0. 03| t=0.05 £ =% ¢ 50| D=0. 003 HI ¢ 50
®+T 6.4 {0.60 [0.60 |0.96 | 3.69 | 3.50 | 3.50 | 0.19 [ 0.00 3.84 3.84 1.53]  0.098] 12.80 | o0.00 | 3.84| 3.8 0. 00 0.02 | BH=0, 20 | HiMh (42
FL23.HL ¢ 50 0.60 BH=0. 20 t=0. 05 t=0. 12 =0. 15| H=0.40| H=0.26| t=0.05 t=0.03] t=0.05 A D=0. 003 HI ¢ 50
®LT 2.6 0.60 [0.60 |0.96 | 1.50 1.42 142 | 0.08 | 0.00 1.56 1. 56| 0.62| 0.40] 520 o0.00 1.56 1.56 0. 00 0.01 | Bp=0. 20 | Al (&%)
BLA ¢ 20 0.50 BH=0. 20 £=0. 05 t=0. 12 t=0. 15 H=0.07| H=0.23| t=0.05 t=0. 03| t=0.05 PE % 20| D=0. 001 PP 20
32.0 [0.50 [0.50 [0.60 | 9.60 | 8.80 | 880 | 0.80 | 0.00 16. 00 16. 00 1.12|  3.66] 64.00 | o0.00 | 16.00 | 16.00 0.00 0.02 | BH=0. 20 | HiM (Bh2siD)
0.00 [ 0.00 | 0.00 0.00
0.00 [ 0.00 | 0.00 0.00
0.00 [ 0.00 | 0.00 0.00
0.00 [ 0.00 | 0.00 0.00
0.00 | 0.00 | 0.00 0. 00
*DA-2
=un F =’ o=
(R®) + T #H & 3 B & n
Az DA2
T - A ) i MRLT asomwr | e | o EEE] L
) ' T | AsiE | Com TR [HERG] ) N e
(n3) (m3) (n3) (m3) (n3) (m3) (n3) (m) (nf) (ni) (nf)
P - AT L - SlSERRIUE U RGA (AT
it
HRE - BT L - SRR L RGA (BH=0. 06)
it
HE - B L - SRR L RGA (BH=0. 10)
it
HRE - BT L - SRR L RGA (BH=0. 20) 43.91 | 43.91 2.73 16.53 | 13.51 54.58
Hwdt 44.00 | 44.00 | 3.00 17.00 | 14.00 55. 00
HRE - BT L - SEERRTUE LEGA  (BH=0. 20+ KT47° V—h)
[ &k 1n
i 3 T (t=0.10)
it
i 3 T (t=0.12) 54.58
Hwdt 55. 00
i 3 T (t=0.15) 54.58
Hwdt 55. 00
i 3 T (£ =0.20)
it
i 3 T (t=0.25)
it
i 73 T
[ &k 1n
As ) 17 (t =15cm) 192. 60
Hwdt 193. 00
As ) 17 (t >15cm)
it
As, Co b 17 30cm)
[ &k 1n
Ll # T (t=0.03) 54.58
Hwdt 55. 00
Ll % T (t=0.05)
it
Ll % T (t=0.07)




